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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHGC:b-0o’, 'FVIPH:r-o', 'PHl:g-o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

8.5

8.0 -

7.5 1

7.0 A

Warning: col [FVOPH' ] is missing

—@— PHO

60

80

100

120

140

160




0.0
4500

4000

3500

3000

2500

2000

1500

1000

31.5

31.0

30.5

30.0

29.5

29.0

28.5

0.50

0.45

0. 40

0.35

0.30

0.25

0.20

30

28

26

24

22

20

-0.02

-0. 04

0.2

60

58

56

54

52

50

48

46

44

100

80

60

40

20

Trend plot forXX6 0

| — minFVI
—  minFVO0
Warning: col ['minFVliraw , 'minFVOraw’ ] is missing
]l ® ETcAlraw L
— ETcA1
4 —@— ETcA

Warning: col [ ETcA

2raw’,

"ETcA2’ ]

is miss

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

ECopt
ECI

tt¢

ECO

Warning: col ['PHC'

] is missing

T —@— WCperM

Warning: col ['WCpe

rMraw’,

"WCperMavg'] is missing

i { { { { T

——
4 =

minDeltaM

avgDeltaM

—@— stdDeltaM

adjFVOR

Warning: col ['adjFVIRraw', "adjFVIR', "adjFVORraw' ] is missing
1 ® FRA L :
[ J
[ J FRC |
[ J 1
(] FRraw Py o ° |
— FR ® i
1
L] I
e © |
[ J 1
[ 1
1
() 1
) 1
|
o |
1

—0— LAl

T —@— beg wc
[ ]
0 50 100 150 200
|1 @ postFgEtraw i
—0— postFgEtavg
—@— postFgEt
®

-

[ S ——




10.
20.
30.
40.
50.
60.
70.
80.
90.
100.
110.
120.
130.
140.
150.
160.
170.
180.
190.
200.
210.

FgDaily

Q,
N
&

%
",
P

I —
== == I ==
— g m——
e = —
e == —
- III —
= = ——
1 1 1 1 1 1
. ‘(S’ Q\%' Q\z‘ Y \{’(;}s's‘ c:,\)&
=2 %
¥ ¥

100

80

- 60

- 40

20



150 4

125

100

160 -

140

120

100

80

60

40

20

25

20

15

10

400 1

350

300

250

200

150

100

50

300 1

250

200

150

100

50

80 1

70

60

50

40

200 1

150

100

50

-50

XX6_0

‘-t

—8&— PPFD

ny

AR’ ‘]".'

~‘

g
r‘!*,, ,’*I’\W x‘!Ll“:h'l‘l’
27 o N L

A gnall,\ W\l :... l,

¢

0 25

50

75

100 125 150 175

200



00
0.75
0.50

-0.25

-0.00

--0.25

-0.50

-0.75

_Ohu #9p1913 d°13 hmohm si1o19 owm

_0hm

_mnhm

yd

n_n_>Q

RH

T

ETol ETbai pR pVPD VN

ESo

ETcl ETcldef ETcP ETcPT ETclis



°
- .J i< -
L O
»), @
° Y]
O 0g @
_/ .“ ".
] ° °
°
T T T T T T T T T T T T T T T T T
° ° °
° L ° L L
° °
s ¢ 0® ° o
[ ] () N ) o0
& )
% o«o ° ° ooroooo ° ° o
o ° L n © L ' L
Q9 @, O] @ [ J
oh) ] ooooc LY ooto
00,99 o0 U 0e% 760 4®
® ¢%5%° °e%2%0 0% _®o0®
P Bg oo o 2%
[ X)) B [ ) [ ) o (Y] -
nou“;)o e ¢« soo oo ®
*® () ° o',
" @ o %o o L, 0
[P ) L] 00 L]
L] on® 9Q¢ O Lot X
N o 9 & () ®
o L @ L ° L

IS
RAG) o
o %@

(@

300

200

100

100 150

VN

50

60

o> o)fa

40

15 20 25

10

600

400

RH

ETol

b o d
LONH L L
R
@e"?
a e
]
o,
o ®
T T T T T T T T T T T T T T T T T T
°
e %l i ¢ i
°
o o .0 ° e
o o ofRe0 o Yy 2
° o o oo O o oo
2 «. ﬂ.(( [ J ® O..
() S ) L]
. , —~
® 0Jﬁ.00;~ » o - ° & - e 0% -
¢ ooow\%o Ge ®
[ ) =2
.‘.‘@4‘ hd ° g ...
) [} o »
o 0.0 )
(Y l..»@‘b L PY L R
TN ° °
@3 00e’%r Qiee*®
- @ o K
5 AAF@
T T T T T T T T T T T T T
o o o o Lo o Lo o Lo o o o o

200

150

100

ETcl

50



200 1 160 4 —— Fit vs obs: 2=0.88, b=11.52, r=0.7 ©
1757 140 -
150 -
120
125 ~
100
100 - »
S 80 -
75 +
60
50 A
40 -
25 A
20 A
0 4
0 -
0 100 200 0 50 100 150
baiA baiB Fit
10 0. 405 0. 0211 10
0.8 ~ 0.8 ~
0.6 A 0.6
0.4 - 0.4 -
0.2 A 0.2+
00 T T T T 00 T T T T

0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.



hour

6:35

7:35

10:55

12:55

100

80

- 60

40

20



XX6

BriE) | EBIATK (FD) | EBE (EH/HK) | XK R

06:35 30 10.0 B5| THA@06:35 KENFEFF (ARFIERER)
07:35 30 10.0 f5| THHA@07:35 KREFEF (RAfERER)
10:55 30 10.0 BE| FH@10:55 KENFERF (RFA1EREE)
12:55 30 10.0 Be| THHRe12:55 KREFEF (RAERSE)
23] 120.0 (4%) 40.0 3253 KEC: 1278.0, PH: 6.9

RER i3 B RECEEBHR K.

[E&REC 2960.0 K5, i F{KECHE& P%ER
HEEKECE (1420.0 vs 2960.0) 15
REREBL I HEREC/PHE SRR, FIRERMIFRELRR



XX6_0, Day=215 (2025-05-29)

FRV (ml plant-1)

o
N
o o
)

—_
(S

—_
o
1

ET (ml/hr/plant)

(S}
1

—_
o

V1, VB°#RV, ET - VI, V0, FVI, FVO, FRV, adjFRV, ET L 900
34 og 90
oo | 00 oo0]
4
TargetEC=1200. 0, | TargetSetEC=1278.0 t
TargetPH=6. 0, TargetSetPH=6.9 N
1
|
l
1 ByWoFv @215 02:24: ET=28 Fg=40.0 Ro=10.0 —e———8% 8§
l
1
1
1
: — — e
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
A | W1 | P | B | s | ® | w5 | Fs | B | Fs | ®s | m5 | Fs | Bs | s | ® | 5 | Fe | B | s | W | w5 | B | B

', 'PPFD_obs’] is missing

\ A A mﬂmg

0bs’ | is missing

—— RH Warning: col ['RH obs’, 'RHo obs’] is missing

o VPD

0.0 0.2 0.4 0.6 0.8 1.

(=2
o

cumET (ml/plant)



100

6:35
80

7:40
60

E 10:20
40

12:35
20

14:25
-0

&




XX6

BfiE) | FEBIRTHC (FD) | JEBRE (BFH/HK) | XS EFE

06:35 210 10.0 f5| 1Ri%@06:35 RAMIEF (RAEZRER)
07:40 210 10.0 f5| 1Ri%@07:40 RHEZFEF (KFAEZRE)
10:20 210 10.0 B {Ri%010:20 KEIEF (GRAEEEE)
12:35 210 10.0 B {Ri%e12:35 FRHIEF (REEZEE)
14:25 210 10.0 fe| 1RiZ@14:25 KREFEF (RAERSE)
2it]1050.0 (5%) 50.0 3EHKEC: 1278.0, PH: 6.9

LOREBRTC R IRMERIE Y (210 vs 30.0))
ZRIA L PRIEEL69. 0 ml.

R K i3k [B] RECEUR Fh ok

[Bl&EC 2960.0 K&, EiYF{KECAE & dikER
HEEKECE (1420.0 vs 2960.0) 15
REREBL I HEREC/PHE SRR, FIREMIFRELRR



10. 0 A

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

FRV (ml plant-1)

XX6_0, Day=214.0 (2025-05-28)

7.5

5.0

N
o
1

VI, V@OERV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

34

- 200

- 100
34
L,

o
o -
o O
1

(=23
o
1

IS
o
1

N
[=]
1

FRV

—_
o

e
©
1

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=1200. 0,  TargetSetEC=1278.0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 0, TargetSetPH=6.9

Warning: lcol ['PHB’,| 'PHC’'] missing

75

50 A

25

1
Bylnit @q215 02:24: ET=45 [Fg=60.0 Ro=18.0
1

- —— —

=T

T
—_
o
o

cumET (ml/plant)

108 3

0 1 2 3 4 5 6 7 8 9 10 11 12 13

15

16

17

18

19

20

21

22

73 Fd

B[ [ [ [R5 [R5 (R | R |f |f5 |5 | A5 | Fs

ES
5]

=
B

E3
B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

75

50 A

25

ByEt @214 19:11: ET=49 Fg=208.0 Ro=nan

(]

N

S

S
cumET (ml/plant)

T
—_
o
o

oo

108 3

0 1 2

 —— ———
3 | 4] 5] 6

A =
7 8 9 10 11 12 13

14

15

16

17

18

19

20

21

22

73 F

B BB (KK (kK[ [kK|B|B|KB|KE|KE |

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

75

50 A

25

1
ByWoFv @D215 02:24: ET=34 Fg=50.0 Ro=13.0

T
N
o
o

T
—_
o
o

cumET (ml/plant)

1.0

oH==T==—=-—

19

20

21

22

23

0.8

=
B

E3
B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

0.6

0.4+

0.2~

0.0

1000

500 -

| _obs
PPFD_obs

30 A

20 A

RH
[ ] RH_obs
([ RHo_obs

hour

[N
o
o

T
N
o
o

0

0

FRV (ml d-1)



hour

6:40

7:40

10:15

12:35

100

80

- 60

40

20



XX6

BriE) | EBIATK (FD) | EBE (EH/HK) | XK R

06:40 210 10.0 Be| 1RRiZ@06:40 KENFEF (RFAIERREE)
07:40 210 10.0 B {RRi&e07:40 KENFEF (GRAEREE)
10:15 210 10.0 Be| 1Ri%e@10:15 KEEF CGRAEES)
12:35 210 10.0 Be| 1Ri@12:35 KREFEF (RAERSE)
23t 840.0 (4%) 40.0 3253 KEC: 1278.0, PH: 6.9

LOREBRTC R IRMERIE Y (210 vs 30.0))
ZRIA L PRIEEL69. 0 ml.

R K i3k [B] RECEUR Fh ok

[Bl&EC 2960.0 K&, EiYF{KECAE & dikER
HEEKECE (1420.0 vs 2960.0) 15
REREBL I HEREC/PHE SRR, FIREMIFRELRR



XX6_0, Day=213.0 (2025-05-27)

10. 0 A

7.5 4

5.0

2.5

VI, VB'ERV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

00

- 200

- 100

0.0
80 {

60

40 ~

FRV (ml plant-1)

20 -

FRV

—_

.0

©

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=1200. 0,  TargetSetEC=1278.0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 0, TargetSetPH=6.9

Warning: lcol ['PHB’,| 'PHC’'] missing

ET (ml/hr/plant)

75

50 A

25

1
Bylnit @q215 02:24: ET=45 [Fg=60.0 Ro=18.0

=T
w
o
o

T
N
o
o

T
—_
o
o

cumET (ml/plant)

108 3

18

—_
©

1 3 6 13 15 16 17 20 21 22 23

- 900

ET (ml/hr/plant)

75

50 A

25

E3
B

=
B

E3
B

E3
B

3

E3
5]

B

ES
5]

=
B

E3
B

T

ER i f5

ByEt @213 19:10: ET=48 Fg=208.0 Ro=nan

T
N
o
o

T
—_
o
o

cumET (ml/plant)

108 3

 ————
1 2 3 4 5 6 14 15 16 17 18 22 23

—_
©

7 20 21

- 900

ET (ml/hr/plant)

75

50 A

25

E3
B

=
B

E3
B

E3
B

ES
5]

E3
B

ES
5]

=
B

E3 ES E3
i i B

T

L EF N f5 i

1
ByWoFv @D215 02:24: ET=34 Fg=40.0 Ro=10.0

o—o o o

N

S

S
cumET (ml/plant)

T
—_
o
o

1.0

11 13 14 15 16 17 18 19 20 21 22 23

0.8

0.6

0.4+

0.2~

E3
B

ES
5]

=
B

E3
B

E3
B

3

ES
5]

B

E3
B

E3
B

ES
5]

=
B

E3
B

|
| _obs
PPFD_obs

VPD

12 20 22

hour

14 16 18

24

FRV (ml d-1)



hour

8:35

10:40

13:00

100

80

60

40

20



XX6

BriE) | EBIATK (FD) | EBE (EH/HK) | XK R

07:35 212 10.0 fg| 1Ri%e07:35 RHEF (KEAEEE)
08:35 212 10.0 B {RRi&@08:35 KENFEF (RAB{EEEE)
10:40 212 10.0 Be| 1Ri%0@10:40 KEEF CGRAEERS)
13:00 212 10.0 fE| 1RiZ@13:00 KENFEF (RAIEREE)
23| 848.0 (4%) 40.0 3253 KEC: 1278.0, PH: 6.9

LOREBRTC R IRMERIE Y (210 vs 30.0))
ZRIA L PRIEEL69. 0 ml.

R K i3k [B] RECEUR Fh ok

[Bl&EC 2960.0 K&, EiYF{KECAE & dikER
HEEKECE (1420.0 vs 2960.0) 15
REREBL I HEREC/PHE SRR, FIREMIFRELRR



XX6_0, Day=212.0 (2025-05-26)

10.0 +

7.5 4

5.0

2.5

VI, VEOERV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 21208

- 200
- 100
31 31
oo | 00 1,

0.0
80 A

60

40 -

FRV (ml plant-1)

20 A

—_

.0

e
©
1

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=1200. 0,  TargetSetEC=1278.0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 0, TargetSetPH=6.9

Warning: lcol ['PHB’,| 'PHC’'] missing

75

50 A

ET (ml/hr/plant)

25

=T

1
Bylnit @q215 02:24: ET=46 [Fg=70.0 Ro=19.0
1

108 3

2 22— e N E—  — — 9
0 1 2 3 4 5 6 7 8 9 10 [ 11 [ 12 [ 13 ] 14 [ 15 [ 16 ] 17 [ 18 [ 19 ] 20 [ 21 [ 22 [ 23 F30

B B 5] B B B B 5] B B B 5] B B B 5] B B B 5]

75

50 A

25

ET (ml/hr/plant)

ByEt @212 19:13: ET=49 Fg=208.0 Ro=nan

2
®
®
3

T
—_
o
o

cumET (ml/plant)

 —————

108 3

1
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 =90

HHE H§ H%E Hﬁ HHE H§ HEE Hﬁ HHE HEE E3 ES = HEE E3 ES = E3 E3 ES = E3 E3 ES

B B B B 5] B B B 5] B B B 5] B B B 5]

75

50 A

ET (ml/hr/plant)

25

T
N
o
o

cumET (ml/plant)

1
ByWoFv @D215 02:24: ET=31 Fg=40.0 Ro=12.0

*—0—0—0—0—0—0—0—0

1.0

oo=—r—————
T
—_
o

0.8

0.6

0.4+

0.2~

0.0

1000

500 -

—_— 4
o | _obs
—@— PPFD_obs

RH
[ ] RH_obs
(] RHo_obs

[N
o
o

N

S

S
cumET (ml/plant)

T
—_
o
o

0

o

0

o

FRV (ml d-1)



hour

8:55

10:55

12:45

100

80

60

40

20



XX6

BriE) | EBIATK (FD) | EBE (EH/HK) | XK R

07:55 212 10.0 fg| 1Ri%@07:55 KRHEIEF (KFAEEE)
08:55 212 10.0 B {RRi&@08:55 KENFEF (RA{EEEE)
10:55 212 10.0 Be| 1Ri%@10:55 KEIEF (KAEES)
12:45 212 10.0 Be| 1Ri@12:45 KREFEF (RAERSE)
23| 848.0 (4%) 40.0 3253 KEC: 1278.0, PH: 6.9

LOREBRTC R IRMERIE Y (210 vs 30.0))
ZRIA L PRIEEL69. 0 ml.

R K i3k [B] RECEUR Fh ok

[Bl&EC 2960.0 K&, EiYF{KECAE & dikER
HEEKECE (1420.0 vs 2960.0) 15
REREBL I HEREC/PHE SRR, FIREMIFRELRR



XX6_0, Day=211.0 (2025-05-25)

10. 0 A

7.5 4

5.0

2.5

0.0
80 {

60

40 ~

FRV (ml plant-1)

20 -

—_

.0

e
©
1

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=1200. 0,  TargetSetEC=1278.0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 0, TargetSetPH=6.9

Warning: lcol ['PHB’,| 'PHC’'] missing

50 A

ET (ml/hr/plant)

75 1

25

1
Bylnit @D?15 02:25: ET=44 [Fg=60.0 Ro=18.0

=T

T
—_
o
o

cumET (ml/plant)

£
108- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

£ 9

ET (ml/hr/plant)

75

50 A

25

E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
5 5 i H H 5 i H H i 5 G A B 5 G A B 5 G A

ByEt @211 16:39: ET=47 Fg=208.0 Ro=nan *—@

T
N
o
o

T
—_
o
o

cumET (ml/plant)

e g—o o ¢

ammm. =
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

£ 9

~
($)]

ET (ml/hr/plant)
ol
S

E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
B 5 5 i i 5 H i H 5 G A B 5 G A B B B G B B B G

1
ByWoFv @D?15 02:25: ET=31 Fg=40.0 Ro=12.0
I

T
N
o
o

T
—_
o
o

cumET (ml/plant)

1.0

N
(S}
1
ooA=——T———

0.8

0.6

0.4+

0.2~

B B 5] B B B 5] B B B 5] B B B 5]

|
| _obs
PPFD_obs

RH
RH_obs
RHo _obs

- 200

- 100

[N
o
o

T
N
o
o

0

0

FRV (ml d-1)



